National Testing Agency

Question Paper Name:

Subject Name :
Creation Date :
Duration:
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:

Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId :

Section Number:

Environmental Sciences 19th March 2024

Shift 1

ENVIRONMENTAL SCIENCES
2024-03-19 16:39:00

105

300

Yes

Environmental Sciences

1
68019192
0

105

No

No

300
No
Cant View

No

Environmental Sciences

680191125

1



Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 1 Question Id : 6801917054 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What will be the energy of 1 mole of photon having a wavelength of 200 nm?

[h=6.6x 10°%J5,C=3.0 x 108 ms™!]

1.~10.8 x 107!? KImol™!
2.~9.9 x 1071° KImol™!
3. ~599 KJmol ™!
4. ~599 Jmol™!
Options :
68019127701. 1
68019127702. 2
68019127703. 3

68019127704. 4

Question Number : 1 Question Id : 6801917054 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
200 nm Pl TUICH aTd DI & 1 Jid © ol 9l SHi?

[h=6.6 x 107°% 5, C=3.0 x 108 ms™!]

1.~19.8 x 1071° KImol™!
2.~9.9 x 1071° KImol ™!
3. ~599 KJmol™!
4. ~599 Jmol ™!
Options :

68019127701. 1
68019127702. 2
68019127703. 3

68019127704. 4

Question Number : 2 Question Id : 6801917055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A black body has a temperature of 2900K. The wavelength of peak enussion (A, ) of the

radiation emitted from it 18 approximately equal to

. 500 nm

. 1000 nm
. 3000 nm
4. 6000 nm

Options :

| R

L]

68019127705. 1
68019127706. 2
68019127707. 3

68019127708. 4

Question Number : 2 Question Id : 6801917055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

TS &I ala! P d9HMH 2000 K & | STY Icufold fafdeRul & TRY Foqoi i auiged
(L 3ferarery TTHT P8 RIS B

. 500 nm

. 1000 nm
. 3000 nm
4. 6000 nm

Options:

e d —

68019127705. 1
68019127706. 2
68019127707. 3
68019127708. 4

Question Number : 3 Question Id : 6801917056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements.

A. Eddy diffusion 18 a dominant mixing process in the stratosphere.

B. Height of the troposphere at poles 1s less than that over the equator.

C. Mean free path of molecules in the mesosphere is longer than that in the troposphere.

Choose the correct answer from the options given below:

1. (A) and (B) only
2. (B) and (C) only
3. (A) and (C) only
4. (A). (B) and (C)

Options:

68019127709. 1
68019127710. 2
68019127711. 3
68019127712. 4

Question Number : 3 Question Id : 6801917056 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

el BYHl BT Tgdr B

(A) TSI YR 90AY HSd § U Wi [0 wishar g

(B) 4l TR &IUHSH Bl Flg HIH 3@ D SR B Sdlg 4 HH B

(C) HeAHSd § Ul o1 Hied Yo "I &THHSH &1 ga- H del sidr S|
- fau e fa el O 9§ 981 S I |

1. %ad (A) 3R (B)
2. %ad (B) 3R (C)
3.%ad (A) 3R (C)
4. (A). (B) R (Q)

Options :

68019127709. 1
68019127710. 2
68019127711.3

68019127712. 4

Question Number : 4 Question Id : 6801917057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Earthquakes occur in

1. Crust and Upper Mantle

2. Lower Mantle and Outer Core
. Inner and Outer Core

4. Upper and Lower Mantle

s

Options :

68019127713. 1
68019127714. 2
68019127715. 3

68019127716. 4

Question Number : 4 Question Id : 6801917057 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Options :

68019127713. 1
68019127714. 2
68019127715. 3

68019127716. 4

Question Number : 5 Question Id : 6801917058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following minerals i the correct sequence of crystallization starting from a cooling
magma.

A. Oligoclase
B. Muscovite
C. Anorthite
D. Quartz

Choose the correct answer from the options given below:

1.(C). (A). (B). (D)
2.(D). (B). (A). (O)
3.(A).(C).(B).(D)
4. (C), (A). (D). (B)
Options :

68019127717.1
68019127718. 2

68019127719. 3



68019127720. 4

Question Number : 5 Question Id : 6801917058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFfaRgd @il &1 T & e (cooling magma) | PIES PR b cilpRUl & Fel
3T 1 Fafyd Bl

(A) SfiferTIaRTS

(B) TEpIdIZe

(C) Tiuige

(D) BT

=T fau e fased! 1 9 gl SR |

Options :

68019127717. 1
68019127718. 2
68019127719. 3

68019127720. 4

Question Number : 6 Question Id : 6801917059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The coal mining carried out by land owners/local miners in Meghalaya state of India in form of a
long narrow opening is known as

1. Open cast mining

2. Underground mining
3. Rat-hole mining

4, Open pit mining

Options :

68019127721.1



68019127722. 2
68019127723. 3

68019127724. 4

Question Number : 6 Question Id : 6801917059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URd & HeTerd e § Uil Hifed] U B gRI U6 @d IH10 GR (opening) & &Y H
b U 70 1Y G B RSB CIRC I ]

Options :

68019127721. 1
68019127722. 2
68019127723.3

68019127724. 4

Question Number : 7 Question Id : 6801917060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the hardness of corundum 1 the Mohs scale of hardness?

I =

RN
o 00 L

Options :

68019127725. 1
68019127726. 2
68019127727.3



68019127728. 4

Question Number : 7 Question Id : 6801917060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PHARAl & HIg T H HRSH &t HoRdl ol g2

oo 2o —
[ B R

4.9
Options :
68019127725. 1
68019127726. 2
68019127727. 3

68019127728. 4

Question Number : 8 Question Id : 6801917061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Feldspar I. |Halide
B. |Gypsum II. |Silicate
C. |Azurite III. |Carbonate
D. |Halite IV. |Sulfate

Choose the correct answer from the options given below:

. (A) - (IIT). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (IV). (B) - (I). (C) - (II). (D) - (III)
(A) - (D). (B) - (IV). (C) - (III). (D) - (I)
- (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)

fag b2 —

iy

Options :

68019127729. 1



68019127730. 2
68019127731. 3

68019127732. 4

Question Number : 8 Question Id : 6801917061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g1 & 91y eI

g1 el

A [hesTR N ENIES]

B |forag 11 |Faferde

clerpse 111 |[FTaf-e

D [eoEe v [gete

- fau e fdedl O 9 9ol SR 9|
1. (A)~(I1I). (B)~(1). (C)-(IV). (D)-(1I)
2. (A)=(IV). (B)~(I). (C)-(II). (D)~(I1I)
3. (A)-(ID). (B)-(IV). (C)~(IID). (D)-(I)
4. (A)-(II). (B)-(I). (C)-(III). (D)~(IV)

Options :

68019127729. 1
68019127730. 2
68019127731. 3
68019127732. 4

Question Number : 9 Question Id : 6801917062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following minerals have platy erystal habit?
A. Muscovite

B. Sillimanite

C. Asbestos

D. Biotite

Choose the correct answer from the options given below:
. (A) and (B) only

. (A). (B) and (C) only

.(B) and (C) only
4. (A) and (D) only

b

L)

Options :

68019127733. 1
68019127734. 2
68019127735.3
68019127736. 4

Question Number : 9 Question Id : 6801917062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad ¥ O forg @fFe 8 wicl fheed @1 UPid (habit) 87
(A) EPIAT5C
(B) RferAMIgCe
(C) TEd
(D) gICIge
i feu v faeedl o 9 gel 3w I
1. %ad (A) 3R (B)
2.9ad (A). (B) 3R (C)

3.%dd (B) 3R (0)
4. %4 (A) 3R (D)

Options :
68019127733. 1
68019127734. 2

68019127735. 3



68019127736. 4

Question Number : 10 Question Id : 6801917063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the plutonic equivalent of rhyolite?

1. Dolomite

2. Granite

3. Gabbro

4. Amphibolite

Options:

68019127737. 1
68019127738. 2
68019127739.3
68019127740. 4

Question Number : 10 Question Id : 6801917063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IATEe &1 WelHd Taded 71 87

Options :

68019127737. 1
68019127738. 2
68019127739. 3

68019127740. 4

Question Number : 11 Question Id : 6801917064 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In asthenosphere. the velocity of S-waves thereby indicating that this zone consists
of partly molten rocks.

A. mncreases

B. decreases

C. remain constant

D. first increases then decreases

Choose the correct answer from the options given below:

A) only

L(
2.( ) only
3.
4.(

C) only

D) Dnh
Options :
68019127741.1
68019127742. 2
68019127743.3

68019127744. 4

Question Number : 11 Question Id : 6801917064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR H, T (S)-080 @1 a7
34if¥ = ¥ fere g5 JgH §

(A) S VI

(B) YTl ©

()RR’

(D) U%d 9¢dl § 3R R gedi g

T4 fu e fosedi & 9 9t SR |

1. $ad (A)
2. Had (B)
3.9ad (C)
4. Hdd (D)

R 78 yaT 9o & [ 59 49



Options :

68019127741. 1
68019127742. 2
68019127743.3

68019127744. 4

Question Number : 12 Question Id : 6801917065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following were the characteristics of the prebiotic primitive earth?

A. Presence of CO,

B. Presence of CH,4

C. Presence of H,O vapour
D. Presence of O,

Choose the correct answer from the options given below:

1. (A) and (D) only.

2. (A). (B) and (C) only
3.(A). (B) and (D) only
4. (B). (C) and (D) only

Options :

68019127745. 1
68019127746. 2
68019127747. 3
68019127748. 4

Question Number : 12 Question Id : 6801917065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Frafafad @ 9 o 91 vieriicsd iy gadi 3t fa=sar of 2
(A) CO, I FUrRUTd
(B) CH, &I Juf&ufd
(C) H,O 9™ & JUi&yfd
(D) O, B FufRfd
4 f3U T fae el & 9 9el SR TH|
1. Had (A) 3R (D)
2.9ad (A), (B) 3R (C)
3.9ad (A), (B) 3R (D)
4. %ad (B). (C) 3R (D)

Options :

68019127745. 1
68019127746. 2
68019127747.3

68019127748. 4

Question Number : 13 Question Id : 6801917066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Water that got trapped during the formation of sedimentary rock is referred to as

1. Underground water
2. Vadose water

. Connate water

4. Meteoric water

(%]

Options :

68019127749. 1
68019127750. 2
68019127751.3
68019127752. 4

Question Number : 13 Question Id : 6801917066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

KNE (sedimentary) E@Fi% W%WWﬁaﬁWﬁ el Aldl %
1. YT o

2. A8 (Vadose) STd
3. e (Connate) Wil
4, Hifegiie ( Meteoric) ¢l

Options :

68019127749. 1
68019127750. 2
68019127751.3

68019127752. 4

Question Number : 14 Question Id : 6801917067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cooking pans made from which of the following metals would need less heat to achieve a
certain cooking tempertaure?

. Copper (specific heat 0.093 Keal'kg °C)

. Iron (specific heat 0.11 Kcal'kg °C)

. Aluminum (specific heat 0.22 Keal'’kg °C)
. Silver (specific heat 0.056 Kcal’kg °C)

I =

o N )

Options :

68019127753. 1
68019127754. 2
68019127755. 3
68019127756. 4

Question Number : 14 Question Id : 6801917067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Fafeid A 9 fod g @ - WH1 TPH & Sd P10 Figd @1 9oH & daIoHH o1 9
B & [l & TH D STaLdHal i

1. a1 (FAfY FW1 0.093 Keal'kg °C)
2. TilRT (A &1 0.11 Kealkg °C)

3. TegHit-Tgm (fAfy &1 0.22 Kealkg °C)
4. 314 (fafe1y ™1 0.056 Keal/kg °C)

Options :

68019127753. 1
68019127754. 2
68019127755. 3

68019127756. 4

Question Number : 15 Question Id : 6801917068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTIT
(Experiment) (Conclusion)
A |Photoelectric effect [. |Ether medium does not exist
B. |Michelson -Morley II. |Light 1s made up of photons
C. |Stern- Garlach III. |Quantization of electronic orbit
D. |Franck -Hertz IV |Electron spin moment

Choose the correct answer from the options given below:

L. (A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)
2. (A) - (IT). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (ID). (B) - (IIT). (C) - (IV). (D) - (I)
4. (A) - (III). (B) - (II). (C) - (D). (D) - (IV)

L)

Options :

68019127757. 1
68019127758. 2
68019127759. 3

68019127760. 4



Question Number : 15 Question Id : 6801917068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T -1 3R Gll-11

AL 11

(i
A |wicigaided aqd I [SUR A1 HIGE T8l §
B |fReeard 1. [y Bl G s g g
C. el I |
D. [HEew IV, |Zaidei- R &
- fau Y fdedl O 9 9ol S I |

1. (A) - (I). (B) - (II). (C) - (II). (D) - (IV)
2. (A) - (II). (B) - (I). (C) - (IV). (D) - (IIT)
3. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
4. (A) - (III). (B) - (II). (C) - (I). (D) - (IV)

Options :

68019127757. 1
68019127758. 2
68019127759. 3

68019127760. 4

Question Number : 16 Question Id : 6801917069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following II B (or 12) group elements in the inereasing order of their Pauling
electronegativities.

A Zn
B.Hg
€. Cd
Choose the correct answer from the options given below:

A).

Iﬂ_JI—l
et
r‘_‘\

N—»-’-_.-f

N —

wo i =]

A
C),

"-\_F"-\_F‘
,-'—‘-s.-'—\
u._.f‘._.-'-u._,-—’\._,-—’

3
.(C
(C
4.(

.l.;(..u
m_p‘._.-
f—\,ﬂ—m

A).

——
—

Options :

68019127761. 1
68019127762. 2
68019127763. 3
68019127764. 4

Question Number : 16 Question Id : 6801917069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafofid st @ 12) 998 dedl 1 31! Uit seigel-Micfddt & ag¢d oH § afiyd 1|
(A) Zn

(B) Hg

(€)cd

A feu o fowed 9 wé SR

Options:

68019127761. 1
68019127762. 2
68019127763. 3
68019127764. 4



Question Number : 17 Question Id : 6801917070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What will be the molar concentration of ammonium ion in a 100 ppb ammmoniacal solution?

5.56 mol/litre

5.56 X 10~ mol/litre

5.56 X 10~ mol/litre
4.5.56 X 107 mol/litre

Options :

Taa [ =] —

68019127765. 1
68019127766. 2
68019127767. 3

68019127768. 4

Question Number : 17 Question Id : 6801917070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 YTTaT (ppb) IR faea= o SHIHTH 319+ $f HleR Jigdl &1 gHIl?

1. 56 mol/litre

2.5.56 X 10> mol/litre

3.5.56 X 10~ mol/litre

4.5.56 X 1079 mol/litre
Options :

68019127765. 1
68019127766. 2
68019127767. 3

68019127768. 4

Question Number : 18 Question Id : 6801917071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

In which of the following pair of chemical species. S does not have same oxidation number?

1. §% and H,S

2. H,S05™ and SO,
3.HS and S*

4. H,S and S,°

Options :

68019127769. 1
68019127770. 2
68019127771. 3

68019127772. 4

Question Number : 18 Question Id : 6801917071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafafad Tamfie yofadl 8 3 fog ot §, s o sifauieur 9B 99 s gl 8
1. %" and H,$
2. H,805™ and SO,

3. HS and $&
4. H,S and Sf"

Options :

68019127769. 1
68019127770. 2
68019127771. 3

68019127772. 4

Question Number : 19 Question Id : 6801917072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following chemical species will dominanatly exist i water havng a pH of less than

&0

1. HCO;~
2. 005
3. H,CO,
4. free CO,

Options :

68019127773. 1
68019127774. 2
68019127775.3
68019127776. 4

Question Number : 19 Question Id : 6801917072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

?ﬁ@ﬁﬁ@fﬁﬂﬂwﬁﬁwﬁsﬁwﬂ@wﬁ@ﬁﬁww@%@?ﬁ
1.HCO;

2,00
3. H,CO;4

4.9 O,

Options :

68019127773. 1
68019127774. 2
68019127775.3
68019127776. 4

Question Number : 20 Question Id : 6801917073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following microbial species are helpful in denitrification process?

A. Rhizobium sp
B. Achromobacter
C. Pseudomonas
D. Nitrosomonas
E. Azotobacter

Choose the correct answer from the options given below:

.(B) and (C) only
.(B).(C) and (D) only
. (B). (C) and (E)
4. (A). (B) and (C) only

|

L]

Options:

68019127777. 1
68019127778. 2
68019127779.3
68019127780. 4

Question Number : 20 Question Id : 6801917073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Fafaad & ¥ o I Anmiiaga yotd fSARiciha e wikd § e o7

(A) TgeieTH Tadt
(B) UsbIHIEGER
(C) gSHI
(D) -leg
(E) T
=i feu e foeed! & ¥ 981 SR I
1. %ad (B) AR (C)
2. %ad (B), (C) 3R (D)
3. %ad (B). (C) 3R (E)
4. (A), (B) 3R (C)

Options :
68019127777. 1
68019127778. 2

68019127779. 3



68019127780. 4

Question Number : 21 Question Id : 6801917074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following phosphate species does not exist in water?

1.H,PO,~
2. HPO, >~
§ e

4. HPO,*~

i

Options :

68019127781. 1
68019127782. 2
68019127783. 3

68019127784. 4

Question Number : 21 Question Id : 6801917074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
fFrafafad o 9 o d wikhe gorrld U 8 =87 urg ol 82

1. H,PO,~

2. HPO, >~

3. PO,

4. HPO,
Options :
68019127781. 1
68019127782. 2
68019127783.3

68019127784. 4



Question Number : 22 Question Id : 6801917075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
When ice start melting from 0°C to 8.5°C. its density will

1. remain constant

2. first increase then decrease
3. first decrease then increase
4. decrease only

Options :

68019127785. 1
68019127786. 2
68019127787.3
68019127788. 4

Question Number : 22 Question Id : 6801917075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
O §% 0°C ¥ 8.5°C ATOHH dd fUHeH oIt 5. 8 591 9d S|

1.RRE@ s
2. UE §gaT § R gedl g
3. Ugd gedl g e gedr g
4. Pad Ueals

Options :

68019127785. 1
68019127786. 2
68019127787.3

68019127788. 4

Question Number : 23 Question Id : 6801917076 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following metal is bioaccumulative in nature but does not undergo
biomagnification to cause adverse health effects?

1. Se
2.Hg
3.Cr
4. As
Options :

68019127789. 1
68019127790. 2
68019127791. 3

68019127792. 4

Question Number : 23 Question Id : 6801917076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fafead # G o € u1g wpid H o Gl § Afth Hidge g YT Ue) B3 & o
oId SM1ae el ToRdl 62

Se

b
oW
e

]
o |

4. As
Options:
68019127789. 1
68019127790. 2
68019127791.3

68019127792. 4

Question Number : 24 Question Id : 6801917077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



What will be the unit of equilibrium constant for the following reaction?

CH;COCH; + HCN 2 CH;C(OH)(CN)CH;

.mol® dm™°

1
2. no unit (unitless)
3. mol dm™

4. mol™! dm?

Options :

68019127793. 1
68019127794. 2
68019127795. 3
68019127796. 4

Question Number : 24 Question Id : 6801917077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
frafeiaa siftiftar & fou Sqa [RRi® @1 e o1 sl

CH;COCH; + HCN 2 CH;C(OH)(CN)CH;

.mol? dm™®
PIS SHIS 6! (unitless)
.mol dm™3

4. mol™! dm?>

Options :

| R

s

68019127793. 1
68019127794. 2
68019127795. 3

68019127796. 4

Question Number : 25 Question Id : 6801917078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Partial pressure of nitrogen gas (N,) in atmosphere will be

. ~7808 Pa
~0.7808 Pa
~7.9X 10* Pa

4. ~0.79 X10" Pa
Options :

fag b —

68019127797.1
68019127798. 2
68019127799. 3

68019127800. 4

Question Number : 25 Question Id : 6801917078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
argHSd 8 ASeISH 19 (N,) P HR1 &a1d gil

.~ 7808 Pa
~(.7808 Pa

 ~7.9X 10 Pa
. ~0.79 X10" Pa
Options :

faa 2 —

e

68019127797. 1
68019127798. 2
68019127799. 3
68019127800. 4

Question Number : 26 Question Id : 6801917079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following codons are called as nonsense codon?

1. UAA, UAC, UAG
2. UUU, UCU, UAU
. UUA, UCA, UUG
4. UCC, UCG, UAU

L]

Options :

68019127801. 1
68019127802. 2
68019127803. 3

68019127804. 4

Question Number : 26 Question Id : 6801917079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafafad ¥ O g o18q o FRd® SIsH S92

. UAA, UAC, UAG
. UUu, UCU, UAU
.UUA, UCA, UUG
4. UCC, UCG, UAU

fas 2 —

Options :

68019127801. 1
68019127802. 2
68019127803. 3
68019127804. 4

Question Number : 27 Question Id : 6801917080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Organogenesis in human takes place during

1. Seventh week
2. Fouth week
3. Third week
4. Sixth week



Options :

68019127805. 1
68019127806. 2
68019127807. 3

68019127808. 4

Question Number : 27 Question Id : 6801917080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gHa o e & GRM B 8|
1. 9Td 9ie
2. 9% 98
3. AR 9«8
4. B¢ I<IB

Options :

68019127805. 1
68019127806. 2
68019127807. 3

68019127808. 4

Question Number : 28 Question Id : 6801917081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of classification of house mouse 1s
A. Muridae

B. Mamimalia

C. Chordata

D. Rodentia

E. Mus

Choose the correct answer from the options given below:

1. (A). (D). (B). (E). (C)
2. (C). (B). (D). (A). (E)
3.(B). (A). (E). (C). (D)
4. (D). (E). (C). (B). (A)

Options:

68019127809. 1
68019127810. 2
68019127811.3
68019127812. 4

Question Number : 28 Question Id : 6801917081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BI3H HIGH (house mouse) & @ﬂw Gl ﬂ_bpf H %
(A) RIS (Muridac)

(B) Ut Silg (Mammalia)

(C) DRI (Chordata)

(D) RSf=ml (Rodentia)

(E) H3 (Mus)

- feu e fd@enl O 9 9ol S 3|

1. (A). (D). (B). (E). (C).
2. (C). (B). (D). (A). (E)
.(B). (A). (E). (C). (D)
4. (D). (E), (C). (B). (A)

Taa

Options :

68019127809. 1



68019127810. 2
68019127811. 3

68019127812. 4

Question Number : 29 Question Id : 6801917082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hypothalamus 1s present in which part of the brain?

. Mesencephalon

. Procencephalon

. Rhombecephalon
4. Cerebellum

Options :

b =

L]

68019127813. 1
68019127814. 2
68019127815. 3

68019127816. 4

Question Number : 29 Question Id : 6801917082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIRUIHY ARETSH & oy UIT H HI[g 8idl 87

1. HOwa (Mesencephalon)

2. UG %BaH (Procencephalon)
3. WG (Rhombecephalon)
4, IETH ( Cerebellum)

Options :

68019127813. 1
68019127814. 2
68019127815. 3

68019127816. 4



Question Number : 30 Question Id : 6801917083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Ligase [. |Reduce topological strain
B. |Helicase II. |Adds phosphate group
C. |Gyrase III. | Joins two open ends of DNA
D. |Kinase IV |Unwinds the DNA

Choose the correct answer from the options given below:

. (A) - (IIT). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (IT). (B) - (). (C) - (IV). (D) - (III)
(A) - (III). (B) - (IV). (C) - (I). (D) - (II)
- (A) - (D). (B) - (IV). (C) - (I). (D) - (III)

fag b2 —

iy

Options :

68019127817. 1
68019127818. 2
68019127819. 3

68019127820. 4

Question Number : 30 Question Id : 6801917083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U9 g1 & 91y el

A1 -1
A [T (Ligase) 1. [erEieide a-1d &l &4 Bl &
B. [2ciiohol (Helicase) I1. |piehe Gg Pl Siisdl &
C. [TET (Gyrase) 111 [SITAT & &l Gol BRI & siigdl o
D. |f&=" (Kinase) IV, [SeU B Eiddi g
A= feu e foeedl o 9 gel 3w 1
1. (A) - (III). (B) - (I), (C) - (IV). (D) - (II)
2. (A) - D). (B) - (I). (C) - (IV). (D) - (III)
3.(A) - (II). (B) - (IV). (C) - (I). (D) - (II)

4. (A) - (). (B) - (V). (C) - (I). (D) - (IIT)
Options :
68019127817. 1
68019127818. 2
68019127819. 3

68019127820. 4

Question Number : 31 Question Id : 6801917084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are several instances where the DNA of the bactereophase reside inside the bacterial cell
without replication and virus generation. The process of co-existence of the bacterium and phase
DNA is known as

1. Biogeny

2. Virogeny

3. Lysogeny

4. Bacteriogeny

Options :

68019127821. 1
68019127822. 2
68019127823. 3

68019127824. 4



Question Number : 31 Question Id : 6801917084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T &% FTERUI § oI 9ae NGl &1 SIUAT (DNA) a1 wfegsfa ok o it Saafa o
SFINGT I & e /el ¢ A1 SR B SITTU (DNA) & Te-3Hicd B! Wicbl
Pl CEEE RIS

1. Sl (Biogeny)
2. agRIoH (Virogeny)
3. A ( (Lysogeny)

4, SN (Bacteriogeny)

Options :

68019127821. 1
68019127822. 2
68019127823. 3

68019127824. 4

Question Number : 32 Question Id : 6801917085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following organelle contains DNA?

1. Ribosome

2. Mitochondria
3. Peroxisomes
4. Golgi Bodies

Options :

68019127825. 1
68019127826. 2
68019127827. 3

68019127828. 4

Question Number : 32 Question Id : 6801917085 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FafaRad § ¥ $H AT (organelle) H ST U1 91T 82

1. X Qﬁ gy (Ribosome)
2. AIgcid r%ﬂ[ (Mitochondria)

3. WRIFHNEH (Peroxisomes)

4. AT Flaol (Golgi Bodies)

Options :

68019127825. 1
68019127826. 2
68019127827. 3

68019127828. 4

Question Number : 33 Question Id : 6801917086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The " Biofilm" is a thin layer that constitutes

1. the thin layer of protein and polymers

2. the thin layer of bacteria and a polymer named polycaprolactone

3. the thin layer of bacteria and a polymer named glyocalyx

4. the combination of bacteria with other co-culturable bacteria from sorrounding

Options :

68019127829. 1
68019127830. 2
68019127831.3
68019127832. 4

Question Number : 33 Question Id : 6801917086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"FIITPE" (" Biofilm") U9 adl! 9Rd § ol CARIGR TGN

1. UIEH 3R UM &1 gaei wRd

2. 9IRGB gaell TR 3R il yiciae = A1 TP ggad

3. SFINGI 1 Uaell R 3R AID A (glyocalyx) ATH® U 950D
4. TN & 3 Ho-Hadq 91l & 1Y S 141 & Yale=

Options :

68019127829. 1
68019127830. 2
68019127831. 3

68019127832. 4

Question Number : 34 Question Id : 6801917087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following structure can not be taken by the single sub unit protein?

. Anti parallel beta sheet
. Alpha helix

. Tertiary structure

4. Quaternary structure

|

Taa

Options :

68019127833. 1
68019127834. 2
68019127835. 3

68019127836. 4

Question Number : 34 Question Id : 6801917087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frofafaa & O o9 O &1 tehd 34U S&T5 UIcH gRI sl [o7dl ofl 9&dl 82

1. Tt wamiar dter Wi
2. P glcidy

3. gD G
4, TGP TR

Options :

68019127833. 1
68019127834. 2
68019127835. 3
68019127836. 4

Question Number : 35 Question Id : 6801917088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Overall Glycolysis yields some ATPs but i early stages. ATP 1s utilised to phosphorylate sugar
substrate . In which of the following steps. ATP is consumed?

1. Sucrose to D-glucose catalysed by invertase

2. Fructans to D-Fructose catalysed by f-fructofuranosidases
3. Starch to glucose-1-phosphate catalysed by phosphorylase
4. D-glucose to glucose-6-phosphate catalysed by hexokinase

Options :

68019127837. 1
68019127838. 2
68019127839. 3

68019127840. 4

Question Number : 35 Question Id : 6801917088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pl [HAIaR TPl 4§ U, T, Ul. (ATPs) WG g1d § aiid RIS TRui 4 U, €.
i {ATP)@WWW&W%%WWW%@H%@Hﬁ
g mRurE U &, O (ATP) BT I o S 9

1. Invertage GRT ISR GohIol § S-S P ]

2. p- 83@8?? :ilﬂfééﬁma?ﬁﬁﬂgﬂ?ﬁ@ gl g?thi[\ﬂ GAGEE]
3. BIEDRIGEH GR B?Qﬁﬂiﬂif@f DI 1- Lm%q}c GAGEE]

4, I GRT ISR ST IS Y TP I-6-P 15T B §F]

Options :

68019127837. 1
68019127838. 2
68019127839. 3
68019127840. 4

Question Number : 36 Question Id : 6801917089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Starch, the major product of photosynthesis in leaves. gets accumulated in

1. Vacoules

2. Endoplasmic Reticulum
3. Amyloplasts

4. Plastids

Options :

68019127841. 1
68019127842. 2
68019127843.3
68019127844. 4

Question Number : 36 Question Id : 6801917089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T, Rl & YT SRyl BT Y 3G, o 1 &1 ol & |

1. gHId (Vacoules)
ll -

3. UHIG AR

4. @RS

Options :

68019127841. 1
68019127842. 2
68019127843. 3

68019127844. 4

Question Number : 37 Question Id : 6801917090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following reproduce sexually by forming ascospores. which are small sacs
commonly referred as "ase1”

. Zygomycetes
. Conidiomycetes
. Ascomycetes
4. Basidiomycetes

fagd a3 —

Options :

68019127845. 1
68019127846. 2
68019127847. 3

68019127848. 4

Question Number : 37 Question Id : 6801917090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fFofafed § ¥ o 91 TS §9167 UF U 8 §o-H adl &, W Bt del o8 8ld 6 @
TOGHIG" (asci) & &0 H Gefd d B

1 \_TIIE'H RS cil (Zygomyeetes)

(Comdiomyeetes)

3 Uﬁifr[ 5%35 ﬂLscom}cetcs

4, aﬁlﬁ?ﬂﬁm (Basidiomycetes)
Options :
68019127845. 1
68019127846. 2
68019127847. 3

68019127848. 4

Question Number : 38 Question Id : 6801917091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s/are false?

A. Most conifers are monoecious, evergreen and produce resin.

B. Cycads are dioecious.

C. There 1s one living species in the phyllum Ginkophyta.

D. Gnetum, show the presence of two distinet Archegonia in a female gametophyte.
E. Compositae family 1s known as Asteraceae.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only
2. (A) and (B) only

3. (D) only

4. (C). (D) and (E) only.

Options:

68019127849. 1
68019127850. 2
68019127851.3

68019127852. 4



Question Number : 38 Question Id : 6801917091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafea § 3 oF wgirmed 82

A]M-{Igﬂﬂ_ﬁ U (monoecious). Waﬁ%ﬁ?ﬂﬂﬁwaﬂﬁ%[
(B )WW dioecious) Eﬁ%l

(C) BISTH Hmﬁwsmﬁwﬁﬁﬁamﬁﬁﬁ%’l

(D) Si-eH, U6 Afed THeIwEe B &l AT Sidbai-a1 &1 3ufifa learmd g1
(E) B IRAR & TR & 719 9 9H odl g |

- feu T fawedi & € 9e! S |

1. %ad (A). {BNﬁTLD)
2. 540 (A)
(
P (

WD}

C). (D) IR (E
Options :
68019127849. 1
68019127850. 2
68019127851. 3

68019127852. 4

Question Number : 39 Question Id : 6801917092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fungal diversity is currently classified into

. Chylridiomycota. Zygomycota. Glomeromycota, Ascomycota. Basidiomycota.

. Chylridiomycota. Zymnomycota. Glomeromycota. Ascomycota. Basidiomycota
. Chloromycota. Zygomycota. Glomeromycota. Ascomycota. Basidiomycota

4. Chloromycota, Zoomycota. Glomeromycota, Ascomycota. Basidiomycota

bd ==

L]

Options :

68019127853. 1
68019127854. 2
68019127855. 3



68019127856. 4

Question Number : 39 Question Id : 6801917092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 SRS AHTZPICT, SFHED [eT, AR HIET, TehiHTgaie, Sffsamgaler
3 ?ﬁ”é H 535 cl. G”?a‘ Imgaj & i f|q'|1:[ Il '1@5 I EEAGRGIR 33— AIgdIcT
4. RIRIAZDICT, FHISPICT, THRIAE I, TR HIEHICT, dRIfSamEale

Options :

68019127853. 1
68019127854. 2
68019127855. 3

68019127856. 4

Question Number : 40 Question Id : 6801917093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bryophytes are divided into three distinct phylla. The liverworts belong to the
phyllum

1. Bryophyta.

2. Anthocerophyta

3. Marchantiophyta
4. Lycopodiophyta

Options:

68019127857. 1
68019127858. 2
68019127859. 3

68019127860. 4



Question Number : 40 Question Id : 6801917093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

STITBTSCH 1 Tl SFeT-31e B1gal (phylla) & fauiid fvan g1 fofaralcg Brgem
________ ERGION

. STIBEC] (Bryophyta)

2. U,U B 2CI (Anthocerophyta)

3. A feslm ¢l (Marchantiophyta)

4. AEDUITSTIBIEC] (Lycopodiophyta)

Options :

68019127857. 1
68019127858. 2
68019127859. 3

68019127860. 4

Question Number : 41 Question Id : 6801917094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It took 168 years for a population to increase from 0.4 million to 3.2 million. If we assume
exponential growth at a constant rate over that period of time, the growth rate would be
approximately

~1%

.~1.25%
~1.5%
4. ~1.75%

e I —

Options:

68019127861. 1
68019127862. 2
68019127863. 3

68019127864. 4

Question Number : 41 Question Id : 6801917094 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U] Bl 4 TG Y 32 AR 0PS¢ H 168 I 77U UG gA 39 AU H T RR W R
HTcir 91 A ¢, l fadTe &t e Gl

~ 1 U=

~1.25 Yfa=rd
1.5 Ufd=rd
4. ~1.75 Wiawd

Options :

L] | ] —_

68019127861. 1
68019127862. 2
68019127863. 3
68019127864. 4

Question Number : 42 Question Id : 6801917095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The main limiting factors for both plants and animals on a global scale are

A. Fire

B. pH

C. Temperature
D. Moisture

Choose the correct answer from the options given below:

. (A) and (B) only
.(B) and (C) only
. (C) and (D) only
. (A) and (D) only

e ko=

Options :

68019127865. 1
68019127866. 2
68019127867. 3

68019127868. 4



Question Number : 42 Question Id : 6801917095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af® TR IR Wef 3R SHaR] aFl & g 33 Hifhd SR ©
(A) ST
(B) pH
(C) AT9HH
(D) T4
-4 feU T fae el & 9 Jel SR IH|
1. %ad (A) AR (B)
2. %ad (B) 3R (C)
3. %dd (C) 3R (D)
4.%ad (A) AR (D)

Options :

68019127865. 1
68019127866. 2
68019127867. 3

68019127868. 4

Question Number : 43 Question Id : 6801917096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I - Ecological Parameters LASEAL-Unif of
Measurement
A |Net pnmary productivity L |g m-
B. Ab:sDrl:ned_pho‘ros:umhencall}-‘ 1 ler
active radiation ?
C. |Phosphorus III. |Joules/area'vear
D |Plant biomass IV. |eC/area’vear

Choose the correct answer from the options given below:

1. (A) - (IV). (B) - (TI1). (C) - (I1). (D) - (I)
2. (A) - (). (B) - (I). (C) - (III). (D) - (IV)
3. (A) - (). (B) - (IIT). (C) - (IV). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019127869. 1
68019127870. 2
68019127871. 3
68019127872. 4

Question Number : 43 Question Id : 6801917096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T Y- 3R -1

I 1: UTRIRIT® GRTEeR_ | 9ot 11: A9 31 3918
A |9 WS JdTghdl L |g/m?
B TR II. |gL

[@feT fafeto 7
C.|wrepRg III. |Joules/area'year
D.|dtyf &1 SEE IV. |gClarea'vear
- feu e fdsedl & 9§ 9el SR I |

1. (A) - (V). (B) - (IIT). (C) - (II). (D) - (I)
2.(A)- (1. (B) - (1I). (C) - (III). (D) - (IV)
3. (A) - (IT). (B) - (II1), (C) - (AV). (D) - (I)
4. (A) - (D), (B) - (AV). (C) - (I). (D) - (II)

Options :



68019127869. 1
68019127870. 2
68019127871. 3

68019127872. 4

Question Number : 44 Question Id : 6801917097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Island communities are a special case in community dynamics in which species makeup is
driven by interaction between

A, Predator abundance
B. Disturbance

C. Colonization

D. Extinction

Choose the correct answer from the options given below:

1. (A) and
2.(B) and
3.(C)and
4. (A) and

o~

B) only
C) only
D) only
D) only

o —
—— p—

—

Options :

68019127873. 1
68019127874. 2
68019127875. 3

68019127876. 4

Question Number : 44 Question Id : 6801917097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR e 8 410 9ar Uh a2y ®iF 3@ & s gefadi
& &g T oo g1 TeEnferd gidt B
(A) TRUTE™T BT =Rl
(B) SiHgudl
(C) IUHdTiiHU
(D) fagw &1
i feu v fae el o 9 get 3w I
1. %ad (A) 3R (B)
2. %ad (B) 3R (C)

3.%dd (C) 3R (D)
4. %ad (A) 3R (D)

Options:

68019127873. 1
68019127874. 2
68019127875.3
68019127876. 4

Question Number : 45 Question Id : 6801917098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the stages by which a species become invasive in an area
A Introduced

B. Established

C. Pest

D. Imported

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2. (D). (B). (A). (C)
3. (D). (A). (B). (C)
4.(C). (B). (A). (D)

Options :
68019127877. 1
68019127878. 2



68019127879. 3
68019127880. 4

Question Number : 45 Question Id : 6801917098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3 TN &1 Tafeyd & o GRI1 TS WSllid U & H MHTHS ol ot o
(A) JT0d HAT

(B) RITTUT &=l

(C) BIc F3-1

(D) STATd HAT

- f3U T fasedl & O 9el SR IH|

_(A). (B). (C). (D).

. (D). (B). (A). (C)

(D). (A). (B). (C)

(C). (B). (A). (D)

|

e Taa

Options :

68019127877. 1
68019127878. 2
68019127879. 3

68019127880. 4

Question Number : 46 Question Id : 6801917099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polar specets tend to have longer geographical range than tropical species in many taxonomic
groups. This 1s generally known as

1. Hanski's rule

2. Rapoport's rule

3. Theory of island biogeography
4. Allee effect

Options :

68019127881. 1



68019127882. 2
68019127883. 3
68019127884. 4

Question Number : 46 Question Id : 6801917099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o, iRl FHg! H Yt il Swieied g gefiiqal o qem | dal e Jard
Bl gt &1 S8 ST R R FEYH ARG

L EﬂaﬁfHanﬂﬂs CARGDE

2. 30 (Rapoport's) PI g
3. g9 od A7 1 g
4. o (Allec) WHTE

Options :

68019127881. 1
68019127882. 2
68019127883. 3
68019127884. 4

Question Number : 47 Question Id : 6801917100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements

A. In sickle cell anamia, a valine is substituted for the glutamic acid at a location on the surface
of the protein near the oxygen binding site.

B. The red blood cells of people. who are homozygous for the sickle cell. allele collapse mnto
sickled shaped when the oxygen level in the blood 1s low.

C. Individual who are heterozygous for the recessive valine-specifying allele are said to possess
the sickle cell trait.

Choose the correct answer from the options given below:

only

L. )
2 ) only

(A)and (B
.(B) and (C

3.(A),(B). (C)

4.(A) and (C) only
Options :
68019127885. 1
68019127886. 2
68019127887. 3

68019127888. 4

Question Number : 47 Question Id : 6801917100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol DU T
(A) Fd Ud ST, SfiaioH i Wi5e & U UidH i Ude IR U ®IFH |
T[T TR 3 o ue afer o iRt foan o 31
B) @I &} @1l Yad DIeTd, W Ried SIfdieT & ot =1 eidl €. oia e § Hiadior
T TR $Y 8id1 ¢ al Tid Riad STeR 8 iR ot 81
(C) afeT o SHyHTal (recessive) m%mw (heterozygous) E“I?I%-G"rlﬁﬁﬁ?
Ueita Ried 9o U gl 8|
Tl f¢ e foPedi & € H51 SR |

1.%ad (A) IR (B)

2. 3949 (B) AR (C)

3.(A). (B). ()

4.%ad (A) 3R (C)

Options :
68019127885. 1



68019127886. 2
68019127887. 3

68019127888. 4

Question Number : 48 Question Id : 6801917101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Species) (Number of chromosomes )
A |Taticum vulgare I. |18
B. |Brassica oleraceae II. |42
C. |Arabidopsis thaliana I11_ |4
D. |[Machaeranthera gracilis IV |10

Choose the correct answer from the options given below:

- (A) - (TI1). (B) - (IV). (C) - (I). (D) - (II)
A(A)-(IV). (B) - (IIT). (C) - (II). (D) - (I)
(A) - (I1), (B) - (1). (C) - (IV), (D) - (IIT)
4. (A) - (D). (B) - (IIT). (C) - (II). (D) - (IV)

|

L]

Options :

68019127889. 1
68019127890. 2
68019127891. 3

68019127892. 4

Question Number : 48 Question Id : 6801917101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U9 g1 & 91y el

& | -I1
A mw {Triticum [ lig
B. iﬁfﬂiﬁﬁ (Brassica i1 lao
IRSTSITTHY YT (
. Arabidopsis thaliana) L f4
= {Machaeranthera gracilis) -
e feu v faeedl o 9 gel 3w I

1. (A) - (II). (B) - (IV). (C) - (I). (D) - (1)
2.(A) - (IV). (B) - (III). (C) - (II). (D) - (I)
3.{A) - (II), {B) - (1), (C) - (IV), (D) - (III)
4. (A) - (1), (B) - (IIT). (C) - (II). (D) - (IV)

Options :

68019127889. 1
68019127890. 2
68019127891. 3

68019127892. 4

Question Number : 49 Question Id : 6801917102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements

A. Many echinoderms are able to regenerate lost parts

B. In many echinoderms. respiration and waste removal takes place by means of skin gills

C. Sea urchins lack distinet arms but have the same five-part body plan as all other echinoderms
Choose the correct answer from the options given below:

A). (B) and (C)

.(B) and (C) only

I;
2
3.(A) and (B) only
4. (A) and (C) only

— — — —



Options :

68019127893. 1
68019127894. 2
68019127895. 3
68019127896. 4

Question Number : 49 Question Id : 6801917102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol PUA IH
(A) aa‘é ‘sﬁ?ﬁsﬁ (echinoderms) @QE’I’ lﬂ’ﬂﬁﬂ? Jqd B H&iﬂél?f% |
%ﬂ? Eﬁ:h@{[ (echinoderms) i 444 3R mﬁfﬁ 7| EﬂﬁﬂﬂT%ﬁl@%ﬂTWﬁ
|
(C) Flﬂ?ﬁ 3 | S-S %Wlﬂﬁﬁ 1 S{HTG BIeT & fd Wﬁlﬂmﬁ(echinoderms}
o G U19-4IT Tl TRR IS gl
T feu U fooedl & € 951 SR |

Options :

68019127893. 1
68019127894. 2
68019127895. 3
68019127896. 4

Question Number : 50 Question Id : 6801917103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Bone present in the thigh region of human 1s known as

1. Humerus
2. Femur
. Radius
4, Sternum

L]

Options :

68019127897. 1
68019127898. 2
68019127899. 3

68019127900. 4

Question Number : 50 Question Id : 6801917103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T~ & WY & (thigh region) T HISlE g31 P {9 U T &HT SIIdl ©
1. gﬂw (Humerus)

2. BIHR (Femur)
3. 3y (Radius)
4. %Y (Sternum)

Options :

68019127897. 1
68019127898. 2
68019127899. 3
68019127900. 4

Question Number : 51 Question Id : 6801917104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The monumental book "Silviculture of Indian Trees' 1s written by

1. H.G. Champion
2. L.R. Holdridge
3. R.S. Troup

4. R.H. Whittakes

Options :

68019127901. 1
68019127902. 2
68019127903. 3
68019127904. 4

Question Number : 51 Question Id : 6801917104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qﬁﬁ JdP TfcadeR 3w E' (U _gplﬁl' ("Silviculture of Indian Trees") forgds AL ferdt ﬂ%

1. T oft. g (H.G. Champion)

2. T4, 3R, IS (L.R. Holdridge)
3. AN UH. €U (R.S. Troup)
4, 3R, T4, %é‘maﬂ Whittakes)

Options :

68019127901. 1
68019127902. 2
68019127903. 3

68019127904. 4

Question Number : 52 Question Id : 6801917105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A geographical unit delineated by sharp gradients and precipitation or snow melt flows along
one side of the gradient. depending upon local topography and natural hydrology is called

1. Basin
2. Catchment
3. Region
4. Watershed

Options :

68019127905. 1
68019127906. 2
68019127907. 3
68019127908. 4

Question Number : 52 Question Id : 6801917105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

QT RYAPI 3R THidD mrqmri%?&ﬂ‘ar{q?w HITIC SPTS o &1 5 F1a
HR AW Y S ATl g, Jh%d{-ll-l ¥ fUTTd FP1d & FHHRR &1, Bl
el alrdl

1. 9 (Basin)
2. WUl (Catchment)

3.84 (Region)
4. TS (Watershed)

Options :

68019127905. 1
68019127906. 2
68019127907. 3

68019127908. 4

Question Number : 53 Question Id : 6801917106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The publication 'The Future We Want' 1s outcome of

1. United Nations Conference on the Human Environment (1972

2. United Nations Conference on the Environment and Development (1992)
. United Nations Conference on the Sustainable Environment (2012)

4. United Nations Sustainable Development Summait (2015)

L]

Options :

68019127909. 1
68019127910. 2
68019127911. 3

68019127912. 4

Question Number : 53 Question Id : 6801917106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

JeR TS & TR d gl (19 0 I foges oy =g sma Ui

1. United Nations Conference on the Human Environment (1972)

2. United Nations Conference on the Environment and Development (1992)
3. United Nations Conference on the Sustainable Environment (2012)

4. United Nations Sustaimnable Development Summit (2015)

Options:

68019127909. 1
68019127910. 2
68019127911.3
68019127912. 4

Question Number : 54 Question Id : 6801917107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1I LISTII

Al systen (Potential Environmental
i g Impact)

A |Coastal Pond I. |Transfer of diseases

B. lintand Pond 1 Introduction of exotic

: 2 " |zpecies
C. [Mollusk Culture pE: [PenEcian g
mangroves
D. |Net Pen/Cage IV. |Degradation of land

Choose the correct answer from the options given below:

(A) - (). (B) - (I). (C) - (IV). (D) - (I)
(A)-(I). (B) - (IV). (C) - (III). (D) - (II)
(A) - (TI1). (B) - (IV). (C) - (II). (D) - ()
(A) - (IV), (B) - (I). (C) - (II), (D) - (IIT)

fas b2 —

=

Options :

68019127913. 1
68019127914. 2
68019127915. 3
68019127916. 4

Question Number : 54 Question Id : 6801917107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U9 g1 & 91y el

AL LI
(STATT Y TuITe) (FUTTEE TAERUITg THTE)
& Wﬂﬁmwoam L s e emia
faceh wenfaal &1

B. [3{dE=i Aol (Inland Pond) | IL £
HITRD Epd (Mollusk I

2 Culture)
B ﬁEﬁﬁ'ﬁW{’ﬁetPenCage} IV Hﬁfﬁﬁﬂm
- feu e fosedl & 9§ 95l SR A |

1. (A) - (IT). (B) - (IT). (C) - (IV). (D) - (I)
2.(A) - (D). (B) - (IV). (C) - (IIT). (D) - (II)
3.(A)- (). (B) - (IV). (C) - (I). (D) - (I)
4. (A) - (IV). (B) - (I).. (C) - (IL). (D) - (III)

Options :

68019127913. 1
68019127914. 2
68019127915. 3

68019127916. 4

Question Number : 55 Question Id : 6801917108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following phase of successional development of vegetation community in a given
habitat in a reverse order (last to Ist) as suggested by E.E. Clements.

A. Phase of migration
B. Phase of nudation

C. Phase of ecesis

D. Phase of reaction

E. Phase of stabilisation

Choose the correct answer from the options given below:

Options :

68019127917. 1
68019127918. 2
68019127919. 3

68019127920. 4

Question Number : 55 Question Id : 6801917108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U, _QF E@ﬁfﬁ (FE. Clements) afﬁﬁﬂﬁa? IR, Qﬁf%@, M Wﬁﬁﬂ@%ﬂﬂ?ﬂ%
it [GPI & TRUT DI 3 [dURId DA (3 Y YyH) ¥ uaiedd D

(A) UdM (migration) DT U

B) AU (nudation) PT =0

C) mﬂ (ecesis) T XU

D) Widfsear (reaction) PT TR

E) RIS (stabilisation) BT TR0I

2 feu e fowed!  § 98t SR |

(
(
(
(



68019127917.1
68019127918. 2
68019127919. 3

68019127920. 4

Question Number : 56 Question Id : 6801917109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Photochemical smog formation in ambient atmosphere requires
A. Volatile hydrocarbons
B. Ozone

C. SO,

D. Sunlight temperature (>25°C)
E.NO,

Choose the correct answer from the options given below:

. (A) and (D) only

. (A). (B). (C) and (D) only
. (B). (C). (D) and (E) only
. (A). (D) and (E) only

|

e g

Options :

68019127921. 1
68019127922. 2
68019127923.3

68019127924. 4

Question Number : 56 Question Id : 6801917109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Hﬂﬁ%ﬂu AR 1 VeI I ¢y & i @ ferd e o 9 - @i siawged
by

A) T gE S TaH

(B) 3{olH

(C) S0,

D) 4 & YT BT dAHH (> 25°C)
(E)NO,

2 feu T fowed 1 9§ 9t SR A
1%?{{ IR (D
W{Fx (B), (C}Sh? (D)
3. %99 (B), (C). (D) IR (E)
4%?1{4; ) 3R (E)

Options :

68019127921. 1
68019127922. 2
68019127923.3
68019127924. 4

Question Number : 57 Question Id : 6801917110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Stratospheric ozone protects us from

1. UV A and microwave radiations
2UVBand UV C
.UVAand UVB
4. UVA.Band C

L]

Options:

68019127925. 1
68019127926. 2
68019127927.3

68019127928. 4

Question Number : 57 Question Id : 6801917110 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
éﬂﬂ@?—ﬁfﬁ (Stratospheric) 3{or- gd Eﬁfﬁﬂ%
1. a1 U 3fR Hrgshiad fafdur §
2 T SR G
3. g T IR
1 qdt T & iR

Options:

68019127925. 1
68019127926. 2
68019127927. 3
68019127928. 4

Question Number : 58 Question Id : 6801917111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following greenhouse gas is not emitted from the landfill sites?

1. Ozone

2. Nitrous oxide
3. Methene

4. Water vapour

Options:

68019127929. 1
68019127930. 2
68019127931.3

68019127932. 4

Question Number : 58 Question Id : 6801917111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafafaa & 9 oF @ dhese T deftva ggel @ Idfld 981 el 82
1. el
2. IS 3RS
3,099
4. 5q Mg
Options :

68019127929. 1
68019127930. 2
68019127931. 3

68019127932. 4

Question Number : 59 Question Id : 6801917112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sound pressure level of 40 decibels 1s equivalent to a sound pressure of

. 0.002 Pa
. 0.04 Pa
.20 Pa

4. 40 Pa

Options:

| I

Taa

68019127933. 1
68019127934. 2
68019127935. 3

68019127936. 4

Question Number : 59 Question Id : 6801917112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



10 SEd &1 @FH gad Wk 9 3 I (59 @9 gara & ax@ ol

.0.002 Pa
. 0. 04 Pa
3.20Pa
4.40 Pa

Options :

|

68019127933. 1
68019127934. 2
68019127935. 3
68019127936. 4

Question Number : 60 Question Id : 6801917113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following s a criteria pollutant as per National ambient air quality standards?

1. CO,
2. NH;4
3. CFCs

4.CO
Options :
68019127937. 1
68019127938. 2
68019127939. 3

68019127940. 4

Question Number : 60 Question Id : 6801917113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



FrafeiRe o © & 91 P gRagi arg ure Il & SFER U6 $ed Hguo o2

. CO,

. NH;4
. CFCs
4.CO
Options :

faa b2 _—

68019127937. 1
68019127938. 2
68019127939. 3
68019127940. 4

Question Number : 61 Question Id : 6801917114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Degradation of detritus into sunple
A |Fragmentation I. |inorganic substances by bacteria and
fungi

Release of nutrients from humus by

B |Humification | S ;
microb action

Breakdown of detritus by earthworm
into smaller particles

C.|Catabolism I11.

Dark coloured substances, highly

D |Mineralization v ; ; : :
resistant to microbial action

Choose the correct answer from the options given below:

. (A) - (II). (B) - (IV). (C) - (II). (D) - (I)
- (A) - (IV). (B) - (II). (C) - (I). (D) - (II)
. (A) - (). (B) - (IV). (C) - (I). (D) - (II)
4. (A) - (I). (B) - (1T). (C) - (III). (D) - (IV)

| S

L]

Options:

68019127941. 1
68019127942. 2
68019127943.3

68019127944. 4



Question Number : 61 Question Id : 6801917114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Y1 SR g1
T _ LI
i Eﬁexltarion} L m&ﬂﬁﬁ Li? tﬁ%ﬁﬁw
il 5
C.|[&erEifiTH (Catabolism) |III. ?ﬁ‘;{%m SUFATE BT BIE Bl
i fau e faoedi § 9 Het TR |

1. (A)-(II). (B) - (IV). (C) - (II). (D) - (I)
A(A) - (IV), (B) - (III). (C) - (I). (D) - (II)
(A) - (III). (B) - (IV). (C) - (I). (D) - (II)
(A) - (D). (B) - (I1). (C) - (III). (D) - (IV)

faa -2

=

Options :

68019127941. 1
68019127942. 2
68019127943. 3
68019127944. 4

Question Number : 62 Question Id : 6801917115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following green house gases in increasing order of their relative contribution to
global warming.

A. CO,
B.N,0
C. CFCs
D. CH,

Choose the correct answer from the options given below:

Options :

68019127945. 1
68019127946. 2
68019127947. 3

68019127948. 4

Question Number : 62 Question Id : 6801917115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frfafad Ui s 1) & Taied aift & S e GREH & dgd $HH H oIared & |

A.CO,
B.N,0
C. CFCs
D.CH,

Tl faU e fadhed! & G 96t SR |

Options :
68019127945. 1
68019127946. 2

68019127947. 3



68019127948. 4

Question Number : 63 Question Id : 6801917116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a sewage water. which of the following is expected to be present in highest quantity (mg/1)?

1. Dissolved oxygen

2. Chemical oxygen demand

3. Carbonaceous Biochemical oxygen demand
4. Nitrogenous biochemical oxygen demand

Options:

68019127949. 1
68019127950. 2
68019127951. 3
68019127952. 4

Question Number : 63 Question Id : 6801917116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tial & gl H, FEfcRad 7 4 fods 99 S A5 (mg/l) H HIYE 61 B 9HIE 62

1. gferd Sfieiier

2. TGS SHidHie $1 AT

3. DM RGNS A Bl I

4, A SRS SHIaRiToH &1 FiT

Options:

68019127949. 1
68019127950. 2
68019127951. 3
68019127952. 4

Question Number : 64 Question Id : 6801917117 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The process that results in a chemical becoming inereasingly concentrated at successive higher
trophic levels i a food web is referred as

1. Bioconcentration
2. Bioconcentration factor
3. Bioaccumulation
4. Biomagnification

Options :

68019127953. 1
68019127954. 2
68019127955. 3
68019127956. 4

Question Number : 64 Question Id : 6801917117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 Wishdl for e IRUMRGEY U UG- W1e ofd § T TaR 3= 9190 TR1 0 doll 9§
ﬂﬂﬁﬂ{concenﬁaied EPIGWT% @l HC'{?-?H [ ] w1|f:||%r

1.9d U Tl (Bioconcentration)

i3 G‘iqqm [Udl PP (Bioconcentration factor)
3. Glagay (Bioaccumulation)

4. SRR HTH (Biomagnification)
Options :
68019127953. 1
68019127954. 2
68019127955. 3
68019127956. 4

Question Number : 65 Question Id : 6801917118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Acidic soils are mostly found in

A. Cold climate

B. Hot climate

C. Dry climate

D. Humid climate

Choose the correct answer from the options given below:
. (A) and (C) only

. (A) and (D) only

.(B) and (C) only
4. (B) and (D) only

| R

LS

Options:

68019127957. 1
68019127958. 2
68019127959. 3

68019127960. 4

Question Number : 65 Question Id : 6801917118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3wy gl SHTeTeR U Sl 8
(A) &SI Saryg
(B) T4 SIcarg

(C) o Sicldiy
(D)

i . ,
- fau e fdsed O 9§ el SR I |

1. %4d (A) AR (C)
2.%ad (A) 3R (D)
3.%ad (B) 3R (C)
4. %4d (B) 3R (D)

Options :
68019127957. 1

68019127958. 2



68019127959. 3
68019127960. 4

Question Number : 66 Question Id : 6801917119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following soil horizons as they occur from top to bottom
A. O horizon

B. A horizon

C. B horizon

D. E horizon

E. C horizon

Choose the correct answer from the options given below:

_(A). (B). (C). (D). (E)
_(A). (B). (D). (C). (E).
.(A). (D). (B). (C). (E)
4. (A). (B). (D). (E). (C)

fag b2 —

Options :

68019127961. 1
68019127962. 2
68019127963. 3

68019127964. 4

Question Number : 66 Question Id : 6801917119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafefad gt & faifsi 1 3 WA de S HhH H qaiolyd &%
(A) O T&ffaw

(B) A f&fa=

(C) B f&fa=

(D) E f&fa=

(E) C féffas

- feu e fd@ el O 9§ 981 SR I |

_(A). (B). (C). (D). (E).
.(A). (B). (D). (C). (E).
_(A). (D). (B). (C). (E)
.(A). (B). (D). (E). (C)

2 =

e Laa

Options :

68019127961. 1
68019127962. 2
68019127963. 3

68019127964. 4

Question Number : 67 Question Id : 6801917120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sample has an absorbance of 2. It's transmittance would be

1.1
2.0.8
3. 0.1
4. 0.01

Options :

68019127965. 1
68019127966. 2
68019127967. 3

68019127968. 4

Question Number : 67 Question Id : 6801917120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
U A GR1 {01 T-1 Weh1R1 & A=Yl &1 H1H 2 § | ST 00 BRT

. |
0.8
0.1
4. 0.01

Options :

fag 2 —

68019127965. 1
68019127966. 2
68019127967. 3

68019127968. 4

Question Number : 68 Question Id : 6801917121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a polar solvent?

1. Acetic acid
2. Chloroform
3. Ethyl acetate
4. Acetone

Options :

68019127969. 1
68019127970. 2
68019127971. 3

68019127972. 4

Question Number : 68 Question Id : 6801917121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafaiad § 9 &1F 91 U Ydi (polar) [dama® g2
1. gffe® uirs
2. FARMBIH
3. Ui udice
4. THlEH
Options :
68019127969. 1
68019127970. 2
68019127971. 3

68019127972. 4

Question Number : 69 Question Id : 6801917122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An analyst reported 40.9 ppm Na in all 10 analysis of the standard solution having true value of
40.11£0.3 ppm. This data 1s

1. Precise but not accurate

2. Accurate but not precise

3. Neither accurate nor precise
4. Both accurate and precise

Options :

68019127973. 1
68019127974. 2
68019127975. 3

68019127976. 4

Question Number : 69 Question Id : 6801917122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T fq2aive = AP FATYH & T4 10 fazemui # 40.9 GHTH (ppm) Na B G <L
ﬁlﬂﬁﬂfﬁﬂﬁﬂil_ﬂ%tﬂmqu}pm %Ia&ﬂfﬁj—f ............................ %

1. QYTdY (precise) i Tetd (accurate) '_'lﬁ

2. D (accurate) e gy (precise) '_'lﬁ
3.9 9eld (accurate) AR A _EDI QYT (precise)
4. elD (accurate) IR gUrae (precise) gl

Options :

68019127973. 1
68019127974. 2
68019127975. 3

68019127976. 4

Question Number : 70 Question Id : 6801917123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the limit of resolution of a microscope where numerical aperture of the objective is 1.4 and
the beam of light have wavelength of 400 nm.

1.~175 nm
2. ~199 nm
~224 nm
4, ~240 nm

Options:

L)

68019127977.1
68019127978. 2
68019127979. 3

68019127980. 4

Question Number : 70 Question Id : 6801917123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



e b faoieet a1 W T P STe aHfeafaed (objective) T USRS TR 148
- Waﬁﬁﬁmﬁm?ﬁ-im mn%’l

1.~ 175 nm
2. ~199 nm
3. ~224 nm
4, ~240 nm

Options:

68019127977. 1
68019127978. 2
68019127979. 3

68019127980. 4

Question Number : 71 Question Id : 6801917124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

While separating the protein using polyacrylamide gel electrophoresis, the major 10ns which
play an important role in stacking the protein are

1. glycine of the running gel buffer
i1. chloride 1on

i11. the protein itself

Which of the following is correct?

1. 11 moves faster than 1. and 1 moves faster than 11
2. 111 moves faster than 1 and 11
. 1 moves faster than 11 and 111
4. 11 moves faster than 111 and 111 moves faster than 1

L]

Options :

68019127981. 1
68019127982. 2
68019127983. 3

68019127984. 4

Question Number : 71 Question Id : 6801917124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

UIGUfPAITIES W SoacIGREY BT JUGH S WISH B 3T Hd I0g, Y9 g ol
I 1 Yooaieyd - H Hecaqu i v €. 4§

i, T oI G T TSR

i, ARG S

i AW

fafcied 3§ oM w9l 8

1.1 1 e i Cofl O a1 . 3R iii P qe i ol 9 Ferel §
2.1 31 i1 1 e H i ST ool =Iere §

3.4 IR i DT H § e dofl ¥ T ¢ )
4. iii T GO B i ol & I § 3R § BT e H i ool 9 Jadl §
Options :

68019127981. 1

68019127982. 2

68019127983. 3

68019127984. 4

Question Number : 72 Question Id : 6801917125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Interaction) (Species A, Species B)
A |Amensalism I. |+.—
B. |Predation I |--
C. |Commensalism oI | +. o
D. |Competition IV |—o

Choose the correct answer from the options given below:

(A)-(I). (B) - (IV). (C) - (I). (D) - (II)
A(A) - (IV). (B) - (I1I). (C) - (I). (D) - (1)
(A) - (II). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (IV), (B) - (I). (C) - (IID), (D) - (II)

| R

Taa

Options :
68019127985. 1

68019127986. 2



68019127987. 3
68019127988. 4

Question Number : 72 Question Id : 6801917125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T -1 3R g1
eI 11
g (Interaction) (ﬂﬁl'lﬁ"f g, NG Eﬁ)
W e (Amensalism) | I | +.—
B. |WifSd=MH (Predation) I |--
C. |HH4Ig (Commensalism)| IIL. | ~. o
D. [Ufa@iFTET (Competition) | IV. | — o

iy

- f3U T faeedl & 1 Jel SR IH|

(A) - (III). (B) - (IV). (C) - (D). (D) - (II)
AA)-(IV). (B) - (IT). (C) - (I). (D) - (II)
(A)-(III). (B) - (). (C) - (V). (D) - (1)
() - (V) (B) - (1. (C) - (IID). (D) - (IT)

faa bd —

.

Options :

68019127985. 1
68019127986. 2
68019127987. 3

68019127988. 4

Question Number : 73 Question Id : 6801917126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The rate of decrease of dissloved oxygen (Lt) with time t in a waste water sample 1s directly
proportional to the amount of oxygen present in the sample at time t.
dLt/dt = —kLt. The umt of rate constant K will be

mol L

smol L!

T [ -] _—

5_1

4. s mol L1
Options :
68019127989. 1
68019127990. 2
68019127991. 3

68019127992. 4

Question Number : 73 Question Id : 6801917126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R o & T H W t 3 1Y gferd STaiieH (L) T P ol X T H I t R
Hiofg, Sifaeio o qmr & Ui gl &1

dLt/dt = -KLt. & [RRIP k D gTg I

.mol L

smol L™}

L R S R

S_[
4 ¢l mol L}

Options :

68019127989. 1
68019127990. 2
68019127991. 3

68019127992. 4

Question Number : 74 Question Id : 6801917127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s an example of a condition caused by chromosomal abnormality?

1. Emphysema

2. Turner's syndrome
3. Lyme discase

4. Edema

Options :

68019127993. 1
68019127994. 2
68019127995. 3

68019127996. 4

Question Number : 74 Question Id : 6801917127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B INITEER] IPHET TUINA (chromosomal) STHTHIHI @ DR Eﬁe[ arat feufc &1 Ud
JaE 57

L Qmﬁm (Emphysema)

2.2 ﬁ@ﬂ (Turner's syndrome)
3. digH AT (Lyme disease)

4. UfSHT (Edema)

Options :

68019127993. 1
68019127994, 2
68019127995. 3
68019127996. 4

Question Number : 75 Question Id : 6801917128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following forest type occupies largest area i India?

1. Tropical wet evergreen
2. Tropical moist deciduous
. Montane wet temperate
4. Tropical dry deciduous

L]

Options :

68019127997. 1
68019127998. 2
68019127999. 3

68019128000. 4

Question Number : 75 Question Id : 6801917128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FrofafEd & I 5T veR &1 a7 YR & I8 oife & § hargan

1. UGB 3 GaEeR
2. IUTH e 71 guigTdl
3. Hied 3% Tafid

4, SUIBIcaT Y guigrd!

Options :

68019127997. 1
68019127998. 2
68019127999. 3

68019128000. 4



